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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^rg^rg^rg^rg^r àíZ hb H$aZo A{Zdm ©̀ h¢&

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&

Write the answer to each question in the given answer-book only.
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4) {OZ àíZmo§ Ho$ AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVa ‘| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo hr ghr ‘mZ|&

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

Write down the serial number of the question before attempting it.

7) AnZr CÎma-nwpñVH$m Ho$ n¥ð>m| Ho$ XmoZm| Amoa {b{IE& ¶{X H$moB© a’$ H$m¶© H$aZm hmo, Vmo CÎma-nwpñVH$m Ho$
A§{V‘ n¥ð>m| na H$a| Am¡a BÝh| {VaN>r bmBZm| go  H$mQ>H$a CZ na "a’$ H$m¶©' {bI X|&

Write on both sides of the pages of your answer-book. If any rough work is
to be done, do it on last pages of the answer-book and cross with slant lines
and write ‘Rough Work’ on them.
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IÊS>> - A

SECTION - A

1) {ZåZ ~hþ{dH$ënr¶ àíZm| ‘| go ghr {dH$ën H$m M¶Z H$a CÎma nwpñVH$m ‘| {bI|o& >

Choose the correct option from the following multiple choice questions and write them
in the answer-book.

i) EH$ Eogr g§»¶m {OgHo$ 1 Am¡a ñd¶§ Ho$ A{V[aº$ H$moB© JwUZIÊS> Z hmo H$hbmVr h¡ - [1]

A) ^mÁ¶ g§»¶m ~) A^mÁ¶ g§»¶m
g) g‘ g§»¶m X) {df‘ g§»¶m
A number which has no factors other than 1 and itself is called -

A) Composite number B) Prime number

C) Even number D) Odd number

ii) ¶{X {ÛKmV ~hþnX ax2 + bx + c Ho$ eyÝ¶H$ α Am¡a β hmo Vmo α + β H$m ‘mZ hmoJm [1]

A)
b
a

− ~)
c
a

−

g) c X)
b
c

−

If α and β are zeros of the quadratic polynomial ax2 + bx + c, then the value
of α + β will be

A)
b
a

− B)
c
a

−

C) c D)
b
c

−

iii) 2x2 + 3x + 4 = 0 ~hþnX ‘| a, b, c H$m ‘mZ hmoJm - [1]

A) 2, 3, 4 ~) 4, 2, 3

g) 3, 2, 4 X) Cnamoº$ ‘| go H$moB© Zhr
The value of a, b, c in polynomial 2x2 + 3x + 4 = 0, will be -

A) 2, 3, 4 B) 4, 2, 3

C) 3, 2, 4 D) Neither of the above

[ Turn Over
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iv) g‘rH$aU x2 – 9 = 0 H$mo hb H$aZo na x H$m ‘mZ àmßV hmoVm h¡ - [1]

A) 3 ~) 3−

g) 9 X) 3±

By solving the equation x2 – 9 = 0, we get the value of x is -

A) 3 B) 3−

C) 9 D) 3±

v) g^r d¥Îm hmoVo h¡ - [1]

A) g‘én ~) gdmªJg‘

g) AÕ©d¥Îm X) BZ‘| go H$moB© Zhr

All are circles -

A) Similar B) Congruent

C) Semicircles D) None of these

vi) g^r g‘~mhþ {Ì ŵO hmoJ| - [1]

A) g‘én ~) gdmªJg‘

g) XmoZm| X) BZ‘| go H$moB© Zhr

All equilateral triangle will be -

A) Similar B) Congruent

C) Both D) None of these

vii) ¶{X 
2

sec
3

θ =  hmo Vmo θ H$m ‘mZ hmoJm - [1]

A) 60° ~) 30°

g) 90° X) 45°

If 
2

sec
3

θ = , then the value of θ will be -

A) 60° B) 30°

C) 90° D) 45°
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viii) d¥Îm H$s {ÌÁ¶m d ì¶mg ‘| ³¶m gå~ÝY hmoVm h¡ - [1]

A) ì¶mg = 2×R ~)
3

D R
2

= ×

g)
1

D R
2

= × X)
1

D R
4

= ×

What is the relationship between radius and diameter of circle -

A) Diameter = 2×R B)
3

D R
2

= ×

C)
1

D R
2

= × D)
1

D R
4

= ×

ix) ñne© aoIm d {ÌÁ¶m H$m ³¶m gå~ÝY hmoVm h¡ - [1]
A) bå~ hmoVr h¡& ~) EH$-Xþgao H$mo H$mQ>Vr h¡&
g) g‘mZmÝVa hmoVr h¡& X) BZ‘| go H$moB© Zhr&
What is the relationship between tangent and radius -
A) Are perpendicular B) Intersect each other
C) Are parallel D) None of these

x) tan 90º = x hmo Vmo x H$m ‘mZ hmoJm - [1]
A) ∞ ~) 3

g)
1

3
X) 1

If tan 90º = x, then the value of x will be -

A) ∞ B) 3

C)
1

3
D) 1

xi) sin 60º H$m ‘mZ h¡ - [1]

A)
1

2
~) 0

g)
1

2
X)

3

2
The value of sin 60º -

A)
1

2
B) 0

C)
1

2
D)

3

2
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xii) EH$ d¥Îm H$s n[a{Y 14π go‘r h¡& BgH$s {ÌÁ¶m {b{IE- [1]
A) 8 go‘r ~) 7 go‘r
g) 9 go‘r X) 10 go‘r
The circumference of a circle is 14π cm. Write its radius -
A) 8 cm B) 7 cm
C) 9 cm D) 10 cm

xiii) 14 go‘r ì¶mg dmbo d¥Îm H$s n[a{Y kmV H$s{OE - [1]
A) 20 go‘r ~) 34 go‘r
g) 44 go‘r X) 48 go‘r
Find the circumference of a circle of diameter 14 cm -
A) 20 cm B) 34 cm
C) 44 cm D) 48 cm

xiv) AÕ©Jmobo Ho$ Am¶VZ H$m gyÌ h¡ - [1]

A) 34

3
rπ ~) 22 rπ

g) 24 rπ X) 32

3
rπ

The formula for the volume of a hemisphere is

A)
34

3
rπ B) 22 rπ

C) 24 rπ D)
32

3
rπ

xv) EH$ KZ H$s ^wOm 7 go‘r h¡ Vmo CgH$m Am¶VZ hmoJm - [1]

A) 7×7 ~)
22

7 10
7

× ×

g) 7×7×7 X) BZ‘| go H$moB© Zhr
If the side of a cube is 7 cm then its volume will be -

A) 7×7 B)
22

7 10
7

× ×

C) 7×7×7 D) None of these
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IÊS>> - ~
SECTION - B

2) 156 H$mo A^mÁ¶ JwUZI§S>mo Ho$ JwUZ’$b Ho$ én ‘| ì¶º$ H$s{OE& [1]

Express 156 as a product of prime factors.

3) lo‹T>r 1, 2, 9, 27, .... ³¶m g‘mÝVa lo‹T>r h¡? ¶{X g‘mÝVa lo‹T>r h¡ Vmo CgH$m gmd©AÝVa {b{IE& [1]

Is series 1, 2, 9, 27, .... an arithmetic progression? If it is an arithmetic progression,
then write common difference.

4) 28 nXmo dmbr g‘mÝVa lo‹T>r 7, 16, 25, 34, ....... H$m ApÝV‘ nX kmV H$s{OE& [1]

Find the last term of arithmetic progression 7, 16, 25, 34, ....... having 28 terms.

5) {Ì ŵO go Amn ³¶m g‘PVo h¡? [1]

What do you understand by triangle?

6) g‘{Û~mhþ {Ì ŵO H$mo n[a^m{fV H$s{OE& [1]

Define isosceles triangle.

7) ñne© aoIm d¥Îm H$mo {H$VZo q~XþAmo§ na ñne© H$aVr h¡? [1]

At how many points does the tangent torch the circle?

8) EH$ ~obZ {OgH$s D±$MmB© 3 go‘r h¡ VWm ~obZ H$m dH«$ n¥ï> 66 go‘r2 h¡ Vmo CgH$s {ÌÁ¶m {b{IE& [1]

Write the radius of a cylinder whose height is 3 cm and the curved surface of the
cylinder is 66 cm2.

9) EH$ R>mog Jmobo H$m ì¶mg 6 go‘r h¡, Vmo Jmobo H$m Am¶VZ kmV H$s{OE& [1]

If the diameter of a solid sphere is 6 cm then find the volume of the sphere.

[ Turn Over
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IÊS>> - g
SECTION - C

10) EH$ ~³go ‘| 25 A§J«oOr H$s nwñVHo$ VWm 75 {dkmZ H$s nwñVHo$ aIr h¡, EH$ {dÚmWu ¶mÑÀN>¶m EH$ nwñVH$ {~Zm
XoIo {ZH$mbVm h¡ -
A) A§J«oOr H$s nwñVH$ AmZo H$s àm{¶H$Vm ³¶m h¡?
~) {dkmZ H$s nwñVH$ AmZo H$s àm{¶H$Vm ³¶m h¡? [2]
There are 25 English books and 75 Science books kept in a box. A student takes
out one book at random without looking at it -
a) What is the probability of getting an English book?
b) What is the probability of getting a Science book?

11) {ZåZ ~maå~maVm ~§Q>Z H$s g§M¶r ~maå~maVm gm[aUr ~ZmBE& [2]
dJ© 0-10 10-20 20-30 30-40 40-50 50-60
~maå~maVm 2 10 25 12 1 20
Prepare a cumulative frequency table of the following frequency distribution.
Class 0-10 10-20 20-30 30-40 40-50 50-60
Frequency 2 10 25 12 1 20

12) {~ÝXþAm| A(3,6) Am¡a B(2,1) H$mo {‘bmZo dmbr aoIm Ho$ ‘Ü¶ {~ÝXþ P Ho$ {ZX}em§H$ kmV H$s{OE& [2]
Find the coordinates of the middle point P on the line joining points A(3,6) and
B(2,1).

13) 26 Am¡a 91 H$m HCF Am¡a LCM kmV H$s{OE& [2]
Find the HCF and LCM of 26 and 91.

14) EH$ {ÛKmV ~hþnX kmV H$s{OE {OgH$mo eyÝ¶H$mo H$m ¶moJ 4 d eyÝ¶H$mo H$m JwUZ’$b 1 h¡& [2]
Find a quadratic polynomial whose sum of zeros is 4 and product of zeros is 1.

15) {H$gr g‘mÝVa loUr Ho$ 11 nXmo H$m ¶moJ’$b kmV H$s{OE O~{H$ CgHo$ àW‘ d A§{V‘ nXmo H$m ¶moJ 40 h¢&[2]
Find the sum of 11 terms of an arithmetic progression when the sum of its first and
last terms is 40.

16) 4 cot2 45º – sec2 60º + sin2 30º H$m ‘mZ kmV H$s{OE& [2]
Find the value of 4 cot2 45º – sec2 60º + sin2 30º.

17) 6 go‘r {ÌÁ¶m dmbo EH$ d¥Îm Ho$ EH$ {ÌÁ¶IÊS> H$m joÌ’$b kmV H$s{OE, {OgH$m H$moU 60º h¡& [2]
Find the area of a sector of a circle of radius 6 cm whose angle is 60º.
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IÊS>> - X
SECTION - D

18) EH$ nmgo H$mo CN>mbm OmVm h¡, kmV H$s{OE - [3]
A) Xmo D$na AmZo H$s àm{¶H$Vm hmoJr&
~) nm§M D$na AmZo H$s àm{¶H$Vm hmoJr&
A die is tossed, Find
a) The probability of coming up with two will be
b) The probability of coming up with five will be

19) à{VñWmnZ {d{Y-Ûmam {ZåZ a¡{IH$ g‘rH$aU ¶w½‘ H$mo hb H$s{OE& [3]
x + y = 14
x – y = 4
Solve the following pair of equations by substitution method -
x + y = 14
x – y = 4

20) Om±M H$s{OE {H$ ³¶m {ZåZ {ÛKmV g‘rH$aU h¡ ¶m Zhr& [3]
(x + 1)2 = 2(x – 3)
Check whether the following quadratic equation holds or not.
(x + 1)2 = 2(x – 3)

21) ¶{X {H$gr A.P. Ho$ àW‘ 20 nXmo H$m ¶moJ 1050 h¡ VWm BgH$m àW‘ nX 10 h¡, Vmo 20 dm± nX kmV H$s{OE&
[3]

If the sum of first 20 terms of an A.P. is 1050 and its first term is 10 then find the
20th term.

22) ¶{X d¥Îm H$s {ÌÁ¶m 13 go‘r h¡ Am¡a BgH$s EH$ Ordm H$s bå~mB© 10 go‘r h¡ Vmo Bg Ordm H$s d¥Îm Ho$ Ho$ÝÐ go Xþar
kmV H$s{OE& [3]
If the radius of the circle is 13cm and the length of one of its chords is 10cm, then
find the distance of this chord from the center of the circle.

23) sin 60º sin 30º + cos 60º cos 30º H$m ‘mZ kmV H$s{OE& [3]
Find the value of
sin 60º sin 30º + cos 60º cos 30º

24) e§Hw$ H$m Am¶VZ 132 KZ‘rQ>a h¡, ¶{X e§Hw$ H$s D±$MmB© 14 ‘rQ>a h¡ Vmo, e§Hw$ H$s {ÌÁ¶m {b{IE& [3]
The volume of the cone is 132 cubic meters. If the height of the cone is 14 meters,
then write the radius of cone.



10

S–125–Mathematics (D&D) 1655

IÊS>> - ¶

SECTION - E

25) ŷ{‘ go 60 ‘rQ>a H$s D±$MmB© na EH$ nV§J C‹S> ahr h¡& nV§J ‘| bJr S>moar H$mo AñWm¶r én go ŷ{‘ Ho$ EH$ {~ÝXþ
go ~m§Y {X¶m J¶m h¡& ŷ{‘ Ho$ gmW S>moar H$m PwH$md 60º h¡& ¶h ‘mZH$a {H$ S>moar ‘| H$moB© T>rb Zhr h¡, S>moar H$s
bå~mB© kmV H$s{OE& [5]

A kite is flying at a height of 60 meters from the ground. The string attached to the
kite is temporarily tied to a point on the ground. The inclination of the string with
the ground is 60º. Assuming that there is no slack in the string, find the length of
the string.

AWdm/OR

Am±Yr AmZo go EH$ no‹S> Qy>Q> OmVm h¡ Am¡a Qy>Q>m hþAm ^mJ Bg Vah ‘w‹S> OmVm h¡ {H$ no‹S>> H$m {eIa O‘rZ H$mo Ny>Zo
bJVm h¢ Am¡a BgHo$ gmW 30° H$m H$moU ~ZmVm h¡& no‹S> Ho$ nmX-{~ÝXþ H$s Xþar, Ohm± no‹S> H$m {eIa O‘rZ H$mo
Ny>Vm h¡, 8 ‘rQ>a h¡& no‹S> H$s D±$MmB© kmV H$s{OE&

A tree breaks due to storm and the broken part bends so that the top of the tree
touches the ground making an angle 30° with it. The distance between the foot of
the tree to the point where the top touches the ground is 8m. Find the height of the
tree.

26) {ZåZ{b{IV gm[aUr {H$gr AñnVmb ‘| EH$ {deof df© ‘| ^Îmu hþE amo{J¶m| H$s Am¶w H$mo Xem©Vr h¡ - [5]

Am¶w (dfm} ‘|) 5-15 15-25 25-35 35-45 45-55 55-65

amo{J¶mo H$s g§»¶m 6 11 21 23 14 5

Cnamoº$ Am±H$‹S>mo H$m ~hþbH$ kmV H$s{OE&

The following table shows the age of patients admitted in a hospital in a particular
year -

Age (in years) 5-15 15-25 25-35 35-45 45-55 55-65

No. of Patients 6 11 21 23 14 5

Find the mode of the above data.

AWdm/OR



11

S–125–Mathematics (D&D) 1655

{ZåZ{b{IV gmaUr EH$ narjm ‘| 100 {dÚm{W©¶mo Ûmam àmßV A§H$mo H$mo Xem©Vr h¡, àmßVm§H$mo H$m ‘mÜ¶H$ kmV H$s{OE&
àmßVm§H$ 20 25 28 29 33 38 42 43

{dÚm{W©¶mo H$s g§»¶m 6 20 24 28 15 4 2 1
The following table shows the marks obtained by 100 students in an examination.
Find the median the marks.
Marks obtained 20 25 28 29 33 38 42 43
No. of Students 6 20 24 28 15 4 2 1

27) x Am¡a y ‘| EH$ g§~§Y kmV H$s{OE, Vm{H$ {~ÝXþ (x, y) {~ÝXþAmo (7, 1) Am¡a (3, 5) go g‘XÿañW hmo& [5]
Find a relation between x and y such that the point (x, y), is equidistant from the
points (7, 1) and (3, 5).

AWdm/OR

{~ÝXþ (–4, 6) {~ÝXþAmo A(–6, 10)  Am¡a B(3, –8) H$mo Omo‹S>Zo dmbo aoImIÊS> H$mo {H$g AZwnmV ‘| {d^m{OV
H$aVm h¡?
In what ratio does point (–4, 6) divide the line segment joining points A(–6, 10)
and B(3, –8).

28) EH$ W¡bo ‘| Ho$db Zr~y H$s ‘hH$ dmbr ‘rR>r Jmo{b¶m± h¡& ‘m{bZr {~Zm W¡bo ‘| Pm±Ho$ Cg‘| go EH$ Jmobr
{ZH$mbVr h¡& BgH$s ³¶m àm{¶H$Vm h¡ {H$ dh {ZH$mbr JB© Jmobr - [5]
A) g§Vao H$s ‘hH$ dmbr h¡?
~) Zr~y H$s ‘hH$ dmbr h¡?
There is only lemon scented sweet pills in a bag. Malini takes out one pill from it
without even looking into the bag. What is the probability that it is the pill taken out
a) Orange scented?
b) Lemon scented?

AWdm/OR
¶h {X¶m hþAm h¡ {H$ 3 {dÚm{W©¶mo Ho$ EH$ g‘yh ‘| go 2 {dÚm{W©¶mo Ho$ OÝ‘{XZ EH$ hr {XZ Z hmoZo H$s àm{¶H$Vm
0.992 h¡& BgH$s ³¶m àm{¶H$Vm h¡ {H$ BZ 2 {dÚm{W©¶mo H$m OÝ‘{XZ EH$ hr {XZ hmo?
It is given that in a group of 3 students, the probability of 2 students not having the
same birthday is 0.992. What is the probability that the 2 students have the same
birthday.





DO N
OT W

RIT
E A

NYTHIN
G H

ERE


